( omp\e,\ca

Sgu aré

X pboe +\8 > 2 — 5

iy LG, ¥ 16D O

e

(oc + 325)2—— 2325 +16 >0

2
(= +3.25) + 5.4275 50

r Livwe. (or ZefO_)

any number squared S fDDSi

hence. (oc+ 3.25) +5.4275 7 O






A3 sin (39 r’ZCD = 4 (0S @9 +z@

sin (3e429) - 4
cos (30 +20) 493

| \
Fan Cse +7_o) - =
new interval 20 £ 38420 2. 560

3@ +20 = 30 | 20 20

S

\O

lf_@_):l?o
=z ! T3 2

‘o 1 decwal F\qce. _
&= 3.3, £3.3° 273 3



@ l%u (’lx ——D = f = \Oa“ (f)’;\-‘-{—)

g@t boda \ogs on the canme. side

108 ! Caow\) + \oﬂ" Couur) = |

Jhke as o single loﬁ ( milbiplication low )

log, G.oc.'“l)(pcw—o = |

X. #5 os annok 108 a negaktve
\Oau (DC.+‘-r)

log u (—S '-l')
\0931\ ("\_)



'{P paraled ~3p-5
Lp +6
%mdfanl—& oo
‘—\2‘3 - RE =
i =
P —_

su'o P’—'g into  atb

261 +

-3(5) -5

\61 = 205



P = 10o0e”
_ 7
P- 100" = lewy

\ k=6 P=100
iniSal PoFdlaJc\on aen

100" > 1600 00O
o .4k ~
e 7 1000
o 000
n e > ln (10

o..wk > \n oot

> (n 0000 )
0 4

E> 23,0288 .

E = 2L\— \/\OUF‘S



@ W\”)C—XBH-ZZO

L\/} = WL —
DC?'-\—éx +\d-2"——83 .:-l—l-
sV in %=m1~1
x* + boc +(mx.—1)l—-8(mx—7?) =Y

expond. + S\W\p\iM

.4
x.° + boc. + MTocZ —12mae +16 =0

rewnke. orde~ X G conslant

2 2
L +mxz + boc - 12moc +16=0

fockonse. ouk 1 and oC

(1 + M) + (bx-12m)c +16=0

o= +m*
b = foc—\2m
c = b

L% —4Aac =0
(6 -2o)" = 214 D(16) =©
exoand and S\/wp\"\Lﬂ
20m* = 3b6m —7 =0



o= 20
b = -36
C= —7

q — A2z9
1O



K
S
OA = 4 +77
A8 = 10V +4)
= A0 + OB

O(me_? Ao\é’/
Oy + 9.

SIS AB = -4 - T

AB = &7 F (%,7)\)






@) (2 + px)
- (D (D e
N @“ () (DD
+ (D@ ) e
+ (D (=) CHGEE

= 512 + 2304px + 460% p"x”

+ 637@3 ~°
b) F?y = - QY
p= "
c) x> C—-llur)%c A460R = —-576

r.  (Fu)x 2204 = 2.8



2277

cosine- e

QR = 15 %47 — 2% \5x7 cos M-




Sur&lce, A.rﬁa = DCZ - LI-DC-\r\

bOoD = a2 +bak
\{wmhe h sureck

- o
\ 1600 =X = W,
Lo

\] = IbwDC-’L - ac
L
\[ = ]6009&2 - __DE'_L;
Loc LT



3
b) V = 400x “2]99__
AV - 400 — 37
d 4
d—‘\l‘:-D
doc
2

312. = 600
\/ 3
<o nko V=40x-X
xz - lé_o_@ 4
1 \V = E\60 (3SD

2 =R



W

ax I
Ly~
d:l’_ _ — Lo
dx‘b _Z:I:
o 20
A o
doC”

Mo Nalue.



8:’. —DC3—+— ZI‘L"\'QDC-
) =°
0 = -2 +2x” + B

x> =23 —8x =0
5c (o - ¢ ~3) =O

oC CDC" 4.)@:%9 e

oC = O)A\’ —Z

J

A (-2, © g (4.9
(27>

Q +g -6



P

o /
j ~ X232+ ¥ B

-2

LA

4 3 2
X ~ x4+ 2% 8
o)

-
Xy 2 81
Y 2 2 O
[2]- Lol
- 128
-3
. g
Areo. =
Z
= 2 1'\2’——8
6% =




1
ox. =10 —20 = O

Cx 4 5)%—2§ -20 =O

(x-sY
- S

oC

o

= 4S
= Nis
= 51@

- g (al5
st 3{5

1!



(0)3)
(6)2

@ = 102 = 20 =

2o -1 b =0O
. = -2 2"}'
J =

'Z‘\H—-)

) = 372

% =0 ‘053
and ohn
9:0 x.:"-é






